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· Cultural erosion. Assess the impact of TNCs (transnational corporations) on creating both winners and losers for people and environments. (SAMS)
· Negative impact on developed world. Assess the view that globalisation inevitably damages the physical environment. (2018)
· Positive impact on developed world. Assess the methods used in local communities to reduce the impact of globalisation on the environment. (2019)

· Negative Impact on developing world. Assess the extent to which cultural diffusion caused by globalisation inevitably leads to social and political tension. (SAMS AS)
· Measuring development. Assess the role of trade blocs in contributing to the growth of both the global economy and national economies. (2017 AS)
· Global shift = losers. Assess the impacts of rural-urban migration on the wellbeing of people in cities in developing countries. (2018 AS)
· Political tensions caused due to globalisation. Assess whether the economic benefits of globalisation always outweigh the social costs. (2019 AS)

Additional: notes for planning each essay in Miss Martin’s notes.  
· Assess the role played by TNCs in the globalisation process (12 marks) 


Examiner comments for: Assess whether the economic benefits of globalisation always outweigh the social costs. (2019 AS)
1. 
2. Provide planning sheet and plan the four main paragraph sections. For each state the example you will use to exemplify your points.
3. Use these notes to improve their exam question from the mock. 


Examiner comments for: Assess the impacts of rural-urban migration on the wellbeing of people in cities in developing countries. (2018 AS)
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1. Provide planning sheet and plan the four main paragraph sections. For each state the example you will use to exemplify your points.
2. Read the exemplar student copy from the examiner’s report (page 10-11 2018 A Level).
3. Improve theirs to achieve full marks.  













Examiner comments for: Assess the view that globalisation inevitably damages the physical environment. (2018)
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1. Provide planning sheet and plan the four main paragraph sections. For each state the example you will use to exemplify your points.
2. Read the exemplar student copy from the examiner’s report (page 5-6 2019 A Level).
3. Improve theirs to achieve full marks.  

Assess the role of trade blocs in contributing to the growth of both the global economy and national economies. (2017 AS)
[image: ]1. Provide planning sheet and plan the four main paragraph sections. For each state the example you will use to exemplify your points.
2. Read the exemplar student copy from the examiner’s report (page 5-6 2019 A Level).
3. Improve theirs to achieve full marks.  
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12 mark answers require consideration of at least two different points of view. Here the answer
needs to discuss impacts' so the obvious two perspectives would be positive and negative impacts.
Note that the question asks for ‘developing countries’. Also although most were able to detail the
problems migrants face in developing cities, and so began to answer the question, the links to
wellbeing were rarely made clear,

Atop grade answer will come to a balanced and coherent judgement, for example one which
considers whether the negative impacts on wellbeing outweigh the positive, or else assesses the
impacts on both the migrants themselves and those already in the city. Another approach would be
to consider a wider range of stakeholders, such as business owners or local government. Murmbai,
Bangalore, Lagos, Dhaka and Karachi were the most popular choices for support. A few misread the
question and wrote about Detroit.
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There are two 12-mark ‘assess’ questions in this paper and candidates need to find a way to explain
more than one perspective.

In this question, candidates were asked to assess the view that globalisation inevitably damages the
physical environment. There were many possible approaches to this question. One was to consider
ways that globalisation has caused damage to the environment,(often in the developing world) and
to assess which was the most severe. Another perspective was to consider the way the developed
world has benefited by ‘exporting’ polluting industry and enabling restoration of habitats. Another
frequently seen response was to explain the strategies used to improve the environment.

To achieve Level 3, answers needed to assess whether environmental damage was inevitable,
rather than merely to explain causes of pollution and strategies to reduce damage. These answers
also needed to be explained in the context of globalisation. Many candidates were able to discuss
the impacts of transport and risk of oilspills alongside carbon emissions. Stronger answers did this
i the context of the water and carbon cycles and related this to the global reach of TNC or the
‘growth of tourism.

Better answers went on to assess how far containerisation is reducing transport pollution due to
larger, fewer ships and, therefore, fewer oil spills, and also the increasing opportunity for
homeworking and teleworking through the use of IT and social media, 50 leading to a reduced need
for travel.

Level 2 answers mentioned renewable energy, electric cars and international agreements, such as.
Paris 2015 as their counter argument, but did not explain the link to globalisation.

In contrast, Level 3 answers included detailed knowledge, for example, about the role of named
TNGs in seeking to minimise their impact, or else causing the drop in water tables or water
pollution, such as Coca Cola, or the way the leather tanning industry in Ethiopia has polluted water
sources. High level responses also discussed the role of water and energy securiy in developing
countries and how hyper-urbanisation (slum growth) in Dharavi threatens this due to unsustainable
‘expansion of Mumbai. Impacts on people were only relevant if linked directly to environmental
damage.
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